g oot goodd

11400 0100 0000 02025/09/14 19:54:24

RN ugoo ugoo uoo uoo goo ggo ggo

1
08:10
09:00

2 00oo0oOooo
09:10 u]
10:00 [H543]

3 office_hour office_hour 0oooooon
10:10 =
11:00 [H220] [H220] [H543]

4 office_hour office_hour oooooooo
11:10 O
12:00 [H220] [H220] [H543]

N 0oooooooag
12:00 oo
13:20 [H541]

5 oooooooo
13:20 oo
14:10 [H541]

6 oooooooo
14:200 og
15:10 [H541]

7 0ooooooo
15:20

16:10 [H572]

8 0ooooooo
16:20

17:10 [H572]

9 oooooooo
17:10

18:00 [H572]

A
18:20
19:05

B
19:10
19:55

C
20:00
20:45

D
20:50
21:35

E
21:40
22:25




